Air Slide Table

TR Series MXQ

06, 08, 012, 616, 020, 625

Cylinder with built-in guide rail and table

Now with recirculating linear ball bearings

for high rigidity and high precision

Air slide table for precise assembly applications

High precision and compact Improved against loads
MXQ compared with MXS (mm) About 3 times stronger against unexpected excessive
Accuracy Dimensions external forces compared with MXS series
Model Parallelism REET Wi i
tolerance idth Height | Length

MXQ12-30 | 0.035 | +0.08 46 30 86

MXS12-30 | 0.2 0.2 50 32 80 Standardized
symmetric style

& Available for all options

Amp|e options for stroke adjus[mem .:.-..- .................................... A w
3 Q ..... Through hole for body mounting

Pin holes for positioning 5 DR T e
Improved repeatability of work %, . ® . & Mounting groove for auto switch

mounting Auto switch is mounted in recessed

- groove for added protection and
Work mounting tap 3% 3
. Co, s .

convenience.

7 A Built-in table and guide rail

Made of martensitic stainless steel

2 Pin holes for
positioning

Improved repeatability of
body mounting

a8 .
- ......................... {% 4 ; PP Body mounting tap

Double the output of previous cylinder
Mounting from 3 direction

available
@ VLateral mounting (Body tap)

==il |

Improved strength SEEEEEERNG

End plate is made of ", Y
extra duralumin. N
(Except the buffer style) O \§

Recirculating linear ball bearing i N

Widened main body of linear guide block + AN
is made of martensitic stainless steel

Wide variety of options

Adjuster option and functional option are available in combination.

Symmetric Style Adjuster options Functional options @ \ateral mounting (Through hole) | @Vartical mounting (Body tap)
. With stroke With buffer
" i - & -
. _:—.,:__}‘ adjuster N S
(] | ® - - -,j ] = =
. .. :I i J - . P ’ ‘ .
bl Y - ' k‘e\(‘\‘ .
siele
9.0 £ 1\ s
i L # . With shock With end
- absorber - _ lock i
- i ? - -
.- - y n N
e .}6, i > Applications
-,wv y [‘\ . ' For Z axis of pick For positioning of pallet on a conveyor
!“ \ 4 \L,‘ -7 and place ‘
TG Axial & OR% 25




Series MXQ

Variations
Adjuster options Functional options
€ Standard stroke (mm) Rubber | Shock Metal & 8§ 2
Model E stopper | absorber | stopper 5 2 = A :
5 - = — p—— S = uto switch
g 10 20 30 40 50 75 100 125 150 § & g § § g s § =
Standard | Symmetric § § § ._.§_ § § §
MXQ 6 | MXQ6L | 6 Peed switeh
W36 | Waaet 1 ¢ SesuEDeemenElN
MXQ12 | MXQ12L | 12 0000000 S e swieh
MXQ16 | MXQ16L | 16 =========== ZDL:'\giall':i‘n\tljication
MXQ20 | MXQ20L | 20 solid state switch
MXQ25 | MXQ25L | 25 gmg g WV
Extension Retraction

stroke adjuster stroke adjuster

All adjuster bolts are standardized for the extension
and retraction end stroke adjuster, and the three
different styles of cushion mechanisms.

[l Rubber stopper
Standard stroke adjuster

Il Shock absorber
For heavy duty and/or high speed use.
Absorbs impact at end of stroke
Provides smooth stops
Improves accuracy when stopping

[l Metal stopper
Improves stopping accuracy
For light duty and low speed use only

2-180

With buffer

With end lock

[l Eliminates impacts at the extend stroke
end to protect the work and tool.

[l Auto switch is installable on the buffer section.

When buffer
functioned ) +QFF at normal status
Auto switch ( ON at buffer operating,

)

Buffer stroke

. *ON at normal status
Auto switch ( OFF at buffer operating)

Normal
condition
Setting ON or OFF at normal status according to

the direction of the auto switch

Application example

For insertion application, buffer mechanism
absorbs the impact of a shock and protects
from damages if the work piece arrives at the
wrong location as a result of poor alignment.

|

Buffer
mechanism

Air gripper

Failure in
positioning

O
3

[l Maintains the original position of the cylinder
after air pressure shut off, thus preventing
the work from falling.

Supply port

Spring Lock piston to cylinder

D

Locked Unlocked

Axial piping

B Organizes all piping into axial directions and
frees up space around the body.

Speed controller

T |
[ [ T
4 4 &
7 7Z73Y
Y\ ¥ N N
% © ©
3@ i




al

series MXQ/Precautions (1)

Be sure to read before handling.

] Selection \

] Mounting

/A Caution

(DDo not apply a load beyond the
range of the operation limits.
Select the model by using the
maximum allowable load and allowable
moment. Refer to pages p.2-190 for
details. When an actuator is used
beyond its operating limits, eccentric
loads on the guide section will be in
excess which results in shorter life span
due to play or inaccuracy of guide
section.

(2 If a table is stopped at an
intermediate position by an
external stopper, avoid ejection.
If ejection occurs, it causes damage. If
a slide table is stopped at an
intermediate position by an external
stopper and then forwarded to the front,
draw back the intermediate stopper
after supplying pressure to allow the
slide table to return to the back for an
instant, then supply pressure to the
opposite port to operate the slide table.

(3Do not use in circumstances that
excessive, external forces or
impacts would be applied.

These conditions could lead to
malfunctions.

/\ Caution

(DDo not scratch or dent the
mounting side of the body, table
or end plate.

Decreasing flatness on the mounting
surface causes play in the guide
section and increases sliding
resistance.

(2Do not scratch or dent on the
forward side of the rail or guide.
It can generation play in the guide
section and increase sliding resistance.

(3Do not apply excessive impacts
or moments when a work is
mounted.

If external load beyond the specified
allowable moment is applied, it
generates play in the guide section and
increases sliding resistance.

(@Flatness of mounting surface
should be 0.02mm or less.
Insufficient flatness of work piece of
base to which an air slide table is
mounted can generates play in the
guide section and increase sliding
resistance.

(B®When connecting with loads
which has external support or
external guide mechanism,
select the connection and align
properly.

(6Take care to prevent contact with
objects such as a hand while an
air slide table is in operation.

A hand can be caught by an adjuster.
Install a protection cover if anything
could interfere during its operation.

(7Do not bring into close contact
with objects which would be
influenced by magnetic fields.
As an air slide table has magnets built-
in, do not allow close contact with
magnetic disks, magnetic cards or
magnetic tapes. Data may be erased.

i (®When mounting an air slide

table, screws of appropriate
length should be used and
tightened properly within the
maximum tightening torque.

If screws are tightened beyond
designed limits, malfunction may occur.
If they are tightened insufficiently, it
may result in sliding of falling off from
its position.

1. Side body tapped

- =

ol | 80t [Mactdhiening Uarcreni
MXQ 6 M4 2.1 8
MXQ 8 M4 2.1 8
MXQ12 M5 4.4 10
MXQ16 M6 7.4 12
MXQ20 M6 7.4 12
MXQ25 M8 18 16

2. Side through hole mounting

Model Bolt Max.tightening ¢mm

used torque Nm
MXQ 6 M3 1.2 10.5
MXQ 8 M3 1.2 12.5
MXQ12 M4 2.8 16
MXQ16 M5 5.7 21
MXQ20 M5 5.7 26
MXQ25 M6 10 32

3. Top body tapped

V200777772,
v
N

Model | B9 |Miorque Nm | depth ¢ mm)
MXQ 6 M2.5 0.5 4
MXQ 8 M3 0.9 4
MXQi2 M4 2.1 6
MXQ16 M5 4.4 7
MXQ20 M5 4.4 8
MXQ25 M6 7.4 10

2-181




A I series IXQ/Precautions (2)
Be sure to read before handling.

| Mounting |

/\ Caution

1. Front mounting

] Environment \ ] Caution in Handling Adjuster Options

/A Caution

(DDo not use in an environment
exposed directly to liquids such
as cutting oil.

If used in an environment exposed to
cutting oil, coolant or oil mist, it
generates play, increased sliding
resistance of air leakage.

(2Do not use in an environment
exposed directly to powder, dust
or spatter etc.

It generates play, increases sliding
resistance or air leakage.

Consult SMC for use in such an
environment.

(3Install a shade screen if exposed
to the direct sun light.

(®Install a blocking cover if a heat

Stroke Adjuster

/A Caution

(3Do not apply a tool like a
spanner to tables. It will cause a

play.

[4

7

= ]

7

A\ Caution

Use bolts at least 0.5mm shorter than
maximum thread depth to prevent bolts
from contacting the end plate. If the bolts
are too long, they hit the end plate and
may cause malfunctions.

Model Bolts | Max. tightening | Max. screw-in Rt

used torque Nm | depth (¢ mm) source is in the area.
MXQ 6 | M3M3 0.9 5 The product temperature may rise
MXQ 8 | MaM4 21 6 above the range of usage limit by
MXQ12 | M5M5 a4 ) radiant heat if a heat source is in the With Shock Absorber
MXQ16 | M6M6 >4 0 area. Install a cover to block from heat

: source. .

MXQ20 | M6M6 7.4 13 _ ACautlon
MXQ25 | MsMs 18 15 (5)Do not use in the area where

(DNever turn or adjust the screws
on bottom of the shock absorber
body.

The screws are not for adjusting. It will
cause oil leakage.

(2Do not scratch the sliding
surface of the shock absorber
piston rod.

It causes loss and durability and
inadequate return.

there are vibrations or
impacts.
It results in damage or malfunction.

Consult SMC for usage under these
environment.

2. Top mounting

Guide Block

] Caution in Handling Adjuster Options \

Stroke Adjuster

/A Caution

(DDo not replace the bolts. Use
only bolts included for this use.
Improper attachment may generate
play or damage by force of impacts,

A\ Caution

Use bolts at least 0.5mm shorter than
maximum thread depth to prevent bolts
from contacting the guide block. If the
bolts are too long, they hit the guide
block and cause damage.

Do not adjust
Piston rod bottom screw

Do not damage

Model Bolts | Max. tightening [Max. screw-in etc.
used | torqueNm |depth(émm) | (2)Follow the table for tightening (3Shock absorbers are expendable
MXQ 6 | M3M3 1.2 4 torque of lock nuts. parts. It may be necessary to
MXQ 8 | M3M3 1.2 4.8 Insufficient tightening will cause change them when energy
MXQ12 | M4M4 238 6 deterioration of positioning accuracy. absorbing capacity decreases.
MXQ16 | M5M5 5.7 7 _
MXQ20 | M5M5 5.7 9.5 Model Tightening torque Nm Applicable size Shock absorber
MXQ25 | M6 M6 10 115 MxQ 6 3.0 MXQ 8 RBO805
ado] 20 MXQ12 RB0806
MXQ12 12.5 MXQ16 RB1007
MXQ16 25.0 MXQ20 RB1411
MXQ20 43.0 MXQ25 RB1412
MXQ25 69.0
(@Follow the table for tightening
torque of shock absorber lock
nuts.
Model Tightening torque Nm
MXQ 8
MXQ12 1.67
MXQ16 3.14
MXQ20
MXQ25 10.8
2-182 4 S\VC



A I series MXQ/Precautions (3
Be sure to read before handling.

] Precautions for Handling Functional Options \

] Precaution for Symmetric Style

With End Lock

With Buffer Function

/A Caution

(DUse 2 position, 4/5 port

valve for solenoid valve.
It will causes a malfunction on the
control circuit that exhausts at both

such as 3 position valve with exhaust

center.

Recommended pneumatic circuit

1]

i L]

A Lk

(2Make sure to connect the

cylinder to speed controller at

the meter-out side.

It causes a malfunction if used as a

controller at meter in side or used
without a speed controller.

(3Make sure to release pressure
when end lock will be released
manually.

<

If end lock is released while pressure is
still remains, it may damage the actuator

by unexpected ejection.

operation
(DPress down lock piston
(2Slide the table forward.

r How to release end lock manually —
Make sure no pressure is applied before

/A Caution

(DUse air slide table with buffer

function in the following
positions.

For horizontal use, adjust the speed
according to the load while the auto
switch may operate by a stroking buffer
in operation depending on the load or
speed.

Horizontal use

(2Auto switch with buffer function:

Refer to the following table for the
proper mounting positions at detection
of stroke end.

.
— ["—’—
o o
L oo
B B

=T

Always
detect ON

* Adjust the switch position according to loads
or speed

(Unit: mm)

Model A B
MXQ 6 2

MXQ 8 2.5

MXQ12 4 3
MXQ16 5

MXQ20 5.5

MXQ25 10

O
Z

/A Caution

(DMaintain a minimum spacing of
at least 3mm if standard style
and symmetric style are used
side by side.

It malfunctions if standard style and
symmetric style are used close

3mm minimum

2-183



airsiice Tle ll Garjiog MXQ

06, 08, 012, 616, 020, 625

How to Order

E|MXQ|12|| L 50| AS

FRH

MON| S

Symmetric
Filetage Style
220 & 925) — [Standard
— | Rc(Pt) L |Symmetric
E | G(PF)

Bore size (Stroke mm)

26 | 10, 20, 30, 40, 50

28 | 10, 20, 30, 40, 50, 75
212 | 10, 20, 30, 40, 50, 75, 100
216 | 10, 20, 30, 40, 50, 75, 100, 125
220 | 10, 20, 30, 40, 50, 75, 100, 125, 150
225 | 10, 20, 30, 40, 50, 75, 100, 125, 150

Adjuster option

Number of auto switches

2

S

1

n

n

e Auto switch

| — [ without auto switch

= Refer to the table below for Parts No. of auto switch

® Functional options

— Standard

F With buffer

R® | With end lock

P Axial piping

FR® | With buffer and end lock
FP | With buffer and axial piping

Note 2) Not available with end lock for series MXQ6.

— Without adjuster
AS Extention . . .
AT | Rubber stopper |Retraction Combination of Options
A Both Functional
of e.n ds Adjuster options| — F R P FR FP
BS® Extention options
BT® | Shock absorber |Retraction
B" Both ends — © O(a) = © O(e) O(s)
Ccs Extention AS, CS ) ) o ) ) )
CT | Metal stopper  |Retraction AT,CT @) @) X X X X
C Both ends A C 0 o X X X X
Note 1) Not available with absorber :
for series MXQS6. BS O X O O X X
BT O O X X X X
B O X X X X X

Applicable Auto Switches

@

O Available X Not available

Note 3) About combination of buffer mechanism style and extetion
stroke adjuster style, the buffer stroke is shortened by the
adjusted length with extetion stroke adjuster.

5 Load voltage Auto switch model || ead wire (m)* .
Style| Special function | Electrical g Wiring Electrical entry Applicable load Detai
entry |35 (Output) DC AC - : 0.5 3 spec.
£ Perpendicular | In-line | (—) | (L)
= No ) 5V,12V | <1o0v | A9OV | A90 e | o IC | Relay
& s e Grommet Ves i 12V 100V A93V A93 o [ J — P.5.3-20
’ (Equi?/.v‘{geNPN) — 5V — | A96V A96 [ J [ IC —
£ 3 wire (NPN) MONV | M9N o [ J
S R 3 wire (PNP) M9PV | M9P ® [J P.5.3-39
(7] .
o 2 wire M9BV | M9B ( ] [ J Relay
® Grommet |Y 24V 12v — —_—
s 4 3 wire (NPN) MONWV| MONW | @ | @ PLC
% Diagnostic indication 3 wire (PNP) MOPWV| MSPW | @ | @ P5.3-66
@ (2 colour) 2 wire MOBWV| M9BW | @ | @
# Lead wire length ~ 0.5m-eevevee — (Example) A93 PLC: Programmable Logic Controller
A93L
2-184 5 S\VC



Air Slide Table Series MXQ

Specifications
Bore size (mm) 6 | 8 | 12 | 16 20 | 25
Piping port M5 Rc(PT)1/8
Fluid used Air
Action Double acting

Operating pressure

0.15to0 0.7MPa

Operating speed range

Proof pressure 1.05MPa
Ambient and fluid temperature —10 to 60°C
50 to 500mm/s

(Adjuster option/Metal stopper: 50 to 200mm/s)

Rubber bumper (Standard, Adjuster option/Rubber stopper)

Cushion Shock absorber (Adjuster option/Shock absorber)
None (Adjuster option/Metal stopper)
Lubrication Not required
Reed switch (2 wire, 3 wire)
Auto switch Solid state switch (2 wire, 3 wire)

2 colour indication solid state switch (2 wire, 3 wire)

Tolerance of stroke length

1
*dmm

Options

Extension (AS)
Retraction (AT)
Both ends (A)

Rubber stopper

Stroke adjusting
range 0 to 5mm

Adjuster options

(
Extension (BS)
Retraction (BT)
Both ends (B)

Shock absorber

With shock absorber
option is not
available for series
MXQ6.

Extension (CS)
Retraction (CT)
Both ends (C)

Metal stopper

Stroke adjusting
range 0 to 5mm

With buffer (F)

Functional options

With end lock (R)

Axial piping (P)

End lock option is
not available for
series MXQ6.

Q *Refer to p.2-186 and 2-187 for the detailed specifications of adjustment and function options.

Standard Stroke

Model Standard stroke (mm)
MXQ 6 10, 20, 30, 40, 50

MXQ 8 10, 20, 30, 40, 50, 75

MXQ12 10, 20, 30, 40, 50, 75, 100

MXQ16 10, 20, 30, 40, 50, 75, 100, 125
MXQ20 10, 20, 30, 40, 50, 75, 100, 125, 150
MXQ25 10, 20, 30, 40, 50, 75, 100, 125, 150

O
Z

2-185



Series MXQ

Theoretical Force

Introducing dual rods,

IN

—

ouT

-

double the output of previous cylinder (Unit: N)
Bore size Rod size Action Piston area Ol A (52
(mm) (mm) direction (mm?) 02 (03 |04 | 05|06 | 07
OouT 57 11 17 23 29 34 40
9 3 IN 42 8 13 17 21 25 29
8 ouT 101 20 30 40 51 61 71
4 IN 75 15 23 30 38 45 53
ouT 226 45 68 90 | 113 | 136 | 158
12 6 IN 170 34 51 68 85 | 102 | 119
ouT 402 80 | 121 | 161 | 201 | 241 | 281
16 8 IN 302 60 91 | 121 | 151 | 181 | 211
ouT 628 126 | 188 | 251 | 314 | 377 | 440
A4y 10 IN 471 94 | 141 | 188 | 236 | 283 | 330
25 12 ouT 982 196 | 295 | 393 | 491 | 589 | 687
IN 756 151 | 227 | 302 | 378 | 454 | 529
Note) Theoretical force (N)=Pressure (MPa) X piston area(mm?)
Weight
(Unit: 9)
Standard stroke (mm) Additional weight of adjuster option Additional wight of function option
Rubber stopper | Shock absorber | Metal stopper i ial pipi
Model e 20 0 4 20 7 ey ke 150 Extension Hetzr;ion Exstension Retraction| Extension Rezzmon LT envgllt:ck (SA);I’(arloﬁfl:'\%)
MXQ 6| 100 | 120 | 140 | 180 | 200 | — — — — 6 5| — — 10 5 25 — 13 +0.28
MXQ 8| 140 | 170 | 210 | 250 | 315 | 385 | — — — 10 10 30 23 23 10 35 40 26 + 0.2S
MXQ12| 335 | 340 | 380 | 450 | 490 | 655 | 745| — — 25 23 47 30 35 23 70 100 43 +0.2S
MXQ16| 605 | 610 | 670 | 735 | 835 | 1000 | 1250 | 1400 | — 45 40 75 53 60 40 105 160 55+ 0.2S
MXQ20| 1100 | 1100 | 1100 | 1200 | 1400 | 1750 | 2350 | 2650 | 2900 | 80 65 | 170 | 120 | 115 65 130 310 166 + 0.5S
MXQ25 | 1750 | 1750 | 1750 | 1950 | 2400 | 2750 | 3450 | 4300 | 4700 | 130 | 110 | 220 | 140 | 180 | 110 200 560 240 + 0.58

Option Specifications

Stroke Adjustable Range by Adjuster Options (Both are the same for front and back ends)

Style

Stroke adjustable range

Rubber stopper

0to 5mm

With shock absorber

Refer to the dimensions on p.2-217

Metal stopper

0 to 5mm

How to Order Stroke Adjuster(Accessory Parts)

xWide range adjusters for rubber stopper and metal stopper are available as optional
specification.

MXQ—

AS

12

L

X11

Adjuster options l lSymmetric
| AS | Rubber Extension — |Standard
AT |stopper Retraction L | Symmetric
| BS | Shock Extension
BT |absorber Retraction .
| CS | Metal Extension Bore size
CT |stopper Retraction 6 26

8 28

12 | 012

16 | o016

20 | 220

25 | 025
2-186

—@ Adjustable range

— 5mm Standard
-X11 15mm )
Opt
X12| 25mm prion

@

Note 4) “-X11” and “-X12” are not available as the built-in style.
Note 5) Refer to p.2-216 and 2-218 for the dimdensions.

O
g

Note 1) “-X12” (adjustable range : 25mm)is not adjustable for series MXQ6.
Note 2) “-X11” and “-X12” are not available with shock absorber.
Note 3) Shock absorber is not available for series MXQ6.




Table Accuracy

Air Slide Table Series MIXQ

Shock Absorber Specifications

Radial
clearance

Shock absorber model |RB0805 | RB0806|RB1007 |RB1411| RB1412
Applicable slide table MXQ8 | MXQ12| MXQ16 | MXQ20 | MXQ25
Max. absorbing energy (J) | 0.98 2.94 5.88 14.7 19.6

Absorbed stroke (mm) 5 6 7 11 12
Max. collision speed (mm/s) 50 to 500

Max. used frequency (cycle/min) 80 80 70 45 45
Max. thrust tolerance (N)| 245 245 422 814 814
Ambient temperature range —10 to 60°C

Spring force Expanded 1.96 1.96 4.22 6.86 6.86

Radial clearance (1 m)| -4 t0 0 \ 4100 \—6 to 0 \—10 to 0 \—12 to 0 \—14 to 0
#1) £0.1mm for stroke 75mm or more

B side parallelism to A side
Stroke (mm)
10 20 30 40 50 75 100 | 125 | 150
MXQ 6(0.025|0.03 |0.035|0.04 |0.045| — — — —
MXQ 80.025|0.03 |0.035|0.04 |0.055|0.065| — — —
MXQ12 | 0.03 |0.03 |0.035|0.04 |0.045|0.065|0.075| — —
MXQ16 | 0.035 | 0.035 | 0.04 | 0.045|0.05 |0.065|0.08 |0.095| —
MXQ20 | 0.04 |0.04 |0.04 |0.045|0.055|0.07 |0.095]|0.105|0.125
MXQ25 | 0.045 | 0.045 | 0.045 | 0.05 |0.06 |0.07 |0.09 |0.115|0.125

(Unit: mm)

Model

[EXE B side travelling parallelism to A side

0.06
€ —
£ L
g 0.04
s -l
© L
8 0.02 —
2 -l
s 1
]
= 0 50 100 150
Stroke (mm)

Travelling Parallelism

Deflection on the dial gauge when the table is
fully stroked while its body is fixed to standard
base surface.

O
Z

Model MXQ6|MXQ8 MXQ12|MXQ16 | MXQ20|MXQ25 (N) Compressed|  3.83 | 4.22 | 6.86 | 1530 | 15.98
B side parallelism to A side Refer to Table 1 Weight (g) 15 15 25 65 65
B side travelling parallelism to A side Refer to Fig.1
C side parallelism to A side 0.05mm
Dimension tolerance of M +0.08mm (+0.1mm)*1 With End Lock Specifications
Dimension tolerance of W +0.1mm

Model MXQ8 | MXQ12 | MXQ16 | MXQ20 | MXQ25
Bore size (mm) 8 12 16 20 25
Operating speed range 50 to 500mm/s
Holding force (N) 25 ‘ 60 ‘ 110 ‘ 160 ‘ 250

Note) Refer to p.2-183 for cautions when handling end locks.

With Buffer Mechanism Specifications

Model MXQ6 | MXQ8 IMXQ12MXQ1 G‘MXQZO MXQ25
Bore size (mm) 6 8 12 16 ‘ 20 25
Operating speed range| 50 to 500mm/s (50 to 300mm/s for horizontal use)
Buffer stroke (mm) 5 10
Buffer stroke |ALO Stroke | 3 5 10 13 17 21
load(N)  |Atmaxstroke| 6 8 13 17 25 29

Note 2) When adjusting stroke with extension stroke end adjuster, the buffer

Q Note 1) Refer to p.2-183 for cautions when handling buffer functions.
stroke is shortened by the adjusted lengh.

Auto Switch Applied for Buffer Section

Style Model No. Specifications
D-M9BYV | 2 wire with light

D-MONV | 3 wire W/ light, Output style: NPN| Perpendicular
D-M9PV | 3 wire W/ light, Output style: PNP
Please order separately for auto switch with buffer mechanism from above model.

Electrical entry

Solid state
switch

With end lock

With buffer mechanism

2-187



Series MXQ

Table Deflection (for reference)

Table deflection by pitch moment

Table pitch deflection due to static pitch

moment applied at arrow for fully extended

stroke of side table

{

(==

Table deflection by yaw moment

Table yaw deflection due to static yaw moment
applied at arrow for fully extended stroke of side
table.

|

——

1= —

Table deflection by roll moment

Table roll deflection arrow A due to static roll
moment applied at arrow F when Lr = (see
table) and table is retracted.

v

A

I

[

]

Lr

(oo [

——

MXQ6-30 | :
26 - 96 - 06 Lr=40mm
0.05 Wwees| | 0.03 MXQ6:30| 0.015 WGei0 |
; ; 6-20 6-40
_ ~mxaeo) | . MXQ6-30——-MXQ6-50
E 0.04 7 = MXxQ6i50| : | E 7
£ / L E L E %
s ; S 0.02 Mxasi20] | | <Soo010 /
2 MX@E:200 © | 2™ Mxaeio| | [g / 4
§ oo / mxaeldo| : | 8 P D8 y
3 74 ' B g
kel / ' kel / ' ©° /
2002 E g xasol | |2 b A
0.01 Q6:10
3 B B I - v MX ' 180005 v
= MXQetio| | | = / / | — boE /
0.01 7 —— i ~ i /
0 10 20 30 : 0 10 20 30 : 0 40 80 120
Load (N) ; Load (N) ; Load (N)
o8 . 298 . 08 Lr=70mm
[ ' ;
/ MXQ8-75| . 0.03 : MXQ8-10 1
0.06 4 ! 1 MXQB/'ZO M§8-30
= bl MXQg=20] | |E 4 MXQ8-40_|
£ / ' £ MXQ8-30 : £ 0.010 74 / MXQ8-50
= Pl E A : o E
5 L | 5002 S mxaga0) || S /[ Wxasirs
% 0.04 ; B MXQ8-75 LB 4
2 _~\xag40| | 2 pd ! E /
3 L mxa@s-20{ | |3 // e (3 0005 /| /
2 MXQ8-30| : |2 s Lo jeo 74
8 002 / // MXQ@s-50] : | & 0.01 7 e | |3 /
— / / e / / L
) | | —mxas-10| | 3
] — : :
0 0 40 60 3 0 20 40 60 } 0 40 80 120
Load (N) ; Load (N) ; Load (N)
612 612 612 Lr=90mm
\ 1 ‘ o MXQ12-10
0.10 MXQ12:100 : \ | 0.020 MXQ12-20
; 0.04 MxQi2-100) . : MXQ12-30
—_ i ' — MXQ12-301 ! — / MXQ12-40,
€ 0.08 ' [ MXQ12-50 ' € MXQ12-5 (
A Waiass| | | 008 s .| E0e ¢ mxQ12.75
§ 06 e | | s Y| waza] s ) MXQ12-100
3 0. % MXQ12:30| | | § L MXQ12-7511 |5 0012
= / /éémxuuo 1S oo A A wmxarz| 2 ///
° A ' ° v, 1|
2 0.04 / / ~ | —WMxQi2-20 ; 2 // ! | 20008 /
3 y // i /47 | —mxai2-10]| | S / /
0.02 MXQ12:10] 0.01 47/ — ; 0.004 /4
/ —1 : : ’
—— : :
0 20 40 60 80 100 0 20 40 60 80 100 0 40 80 120 160
Load (N) : Load (N) : Load (N)
2-188 4 S\MC



Air Slide Table Series MIXQ

Table deflection by pitch moment

Table pitch deflection due to static pitch
moment applied at arrow for fully extended
stroke of side table.

y

=

Table deflection by yaw moment

Table yew deflection due to static yaw moment
applied at arrow for fully extended stroke of side
table.

y

Table deflection by roll moment

Table roll deflection arrow A due to static roll
moment applied at arrow F when Lr=(see
table)and table is retracted.

F

[ ]

T —

F A

|

; ' Lr
016 : 016 : 016 Lr=120mm
[ I I ! T i — T T T
MXQ16-125 MXQ16-1 : MXQ16-125] ! 0.04 MXQ16,10 I \
0.12 a 16:190 MXQL6=75 ; 0.06 /’ ngisqs_] ‘ MXQ16120 MX0116-50
= / // D= 0 Juxatean| | mxatelo/[ /] Juxaters
£ / 7 D E 1 Jwxateso| i | E o003 I/ MXG16-125
= '/ mxaje-s0f + | = N A A uxaie100 | | = A/
o 0.08 7 7 MXQ16-40 ' 5 0.04 y//r MXQ‘I‘G-30 ' 5 74
% // MXQ16-30| % / // // 1 ‘ % 0.02 ///
© DS / mxate20| | |© /|
2 AN |alenl | |2 Y 728D i 4
2004 7 L[ 8002 = ‘ |8 y/
/) A T lwxatso / Sl i 001
Y i
//// ' /// i
T ! — :
0 50 100 150 200 : 0 50 100 150 200 : 0 100 200 300 400
Load (N) : Load (N) ; Load (N)
020 i 020 - 220 Lr=160mm
T | ' I i T
MXQ20-125 | : 0.08 \ ‘ MXQ20-10
012 MXQ20-150/ MXQzo-75 | | MXQ20-40 | | T |
/ /o ‘ MXQ20-75 | 0.06 MXQ20-30 MXQZCES
T A_Lamxazean | || MXQ2030| | | & MXQ20-40 / /%,,ngo 100
E Y © | Eo0.06 g € 8 (Q20-10
£ / / ///%gggfgo PLE // w250 1| £ MXQ20-125—|
5 0.08 g \ Cls A MXQ20-150) ¢ | < / MXQ20-150
2 // L Amxaz030 | || £ / A _Amxa0-125) | | £ 0.04 A
3 g \ P12 004 A | Pole Y
g 77 \ T / 7 _Amxa020 | ;| B y
© / // |_~mxez0z0 | i)\ S LA, _—|wxazo-100| | |8 //7
8 0.04 Z 7 P, E: )% Mxa20-10 [ | |8 /
= / | —1 -10 ' = 0.02 L ' + 0.02 V,
b 4 1 I :
~ 3 1 ‘
0 200 300 0 100 200 300 ] 0 100 200 300 400 500 600
Load (N) : Load (N) : Load (N)
625 : 625 : ﬁ25 Lr=200mm
T : ' T j
042 \ MXQ25-150 ; 040 ‘ 0.08 MXQ25-[10 MXQ25- 50
: ‘ MXQ25-40 ! - MXQ25175 | MXQ25-120 | MXQ25- 75
MXQ25-100 / / 1 / MxQ25l40 | MXQ25- 130 V7
3 125 e Amxazshoo| || g wxa2s-ao/ | /| mxazs-100
£ MXQ25-125 / MXQ25-30 ' E 0.08 / Mxa2shs0| | £ 0.06 /7 |Mxa25-125
~ ) ! ~ ~ !
§0.08 VAR M'so_ bl s / /A MXQ25130 | | | ¢ A/ |MXQ25-150
oY ' o / MY ' o
5 i | 8 o006 mMx@zsi50— | |2 /
% / / // _MxQ25:20 | ! % //% MXQ25125 | | % 0.04 //
H / / mxazsho | | | ® o004 % el R A
8 0.04 70D : - o wazsio | | 8 /.
" /, Z / — PR 2 b F 002
/ ! 0.02 _—— : ///
0 100 200 300 400 500 : 0 100 200 300 400 500 ‘ 0 200 400 600 800
Load (N) ; Load (N) ; Load (N)
ZSNC 2-189



Series MXQ
How to Select

Selection Procedure Formula and Data

Operating conditions

Selection Example

List the operating conditions
according to mounting position
and work form.

- Model used

- Type of cushion

- Mounting position of work
- Mounting direction

- Average speed Va (mm/s)
- Applied load W (N):

Cylinder: MXQ16-50
Cushion: Robber stopper
Mounting on work table
Mounting: Horizontal well
Average speed

: Va=300[mm/s]

Applied load: W=10[N]

- Overhang Ln (mm): t;f;g:m
L3=30mm
1 vV 2
Calculate kinetic energy E(J) E=—>" W (3500 =% 11 ‘1‘(2;30)2=°-°83

of load.

Calculate allowable kinetic energy Ea(J).
Check that kinetic energy

of load does not exceed allowable
kinetic energy.

Load rate

Collision Speed=1.4 Va

# Correction coefficient
Ea= K E max
Work mounting coefficient K:

Max. allowable kinetic energy Emax:
Kinetic energy(E) < Allowable kinetic energy(Ea)

V=1.4 X 300=420
Ea=1 X 0.11=0.11
Possible to use by E=0.088<Ea=0.11

(1
l Kinetic energy
©

EX] Load rate of applied load

Calculate allowable applied
load Wa(N).

Calculate load rate of applied load O(1.

E®] Load rate of static moment

Wa=K 3 Wmax
Work mounting coefficient K:
Allowable applied load coefficient B:
Max. allowable applied load Wmax:
Oli=W/Wa

Wa=1 X1 X 4=4
K=1
B=1
Wmax=4
0l1=1/4=0.25

Calculate static moment M(Nm).
Calculate allowable static moment
Ma(Nm).

Calculate Load rate of static
moment (2.

EX&] Load rate of dynamic moment

M=W X (Ln+An)/1000
Correction value for center position
distance of moment An LEIEEK]

Ma=K Y Mmax
Work mounting coefficient K:
Allowable moment coefficient v: [JETF]
Max. allowable moment Mmax:

Ol=M/Ma

Examine for Mr
Mr=1 X 9.8(30+10.5)/1000

Yaw

Examine for My
My=1 X 9.8(10+30)/1000

=0.39 =0.39
A3=30 A6=10.5
May=1 X 1 X 18=18 Mar=36
Mymax=18 Mrmax=36
K=1 K=1
=1 =1

0(2=0.39/18=0.022 00’2=0.39/36=0.011

Calculate dynamic moment
Me(Nm).

Calculate allowable dynamic
moment Mea(Nm).

Calculate load rate of dynamic
moment Ols .

E®1 Sum of load rate

(Ln+An)
1000
Load equivalent to collision We=0 W V
O: Damper coefficient

Rubber stopper without adjuster=4/100
Shock absorber=1/100
Metal stopper=16/100

Correction value for center position

distance of moment An:

Mea=K ¥ Mmax
Work mounting coefficient K: FEFE]
Allowable moment coefficient v: [SIETI]
Max. allowable moment Mmax:

Olz=Me/Mea

Me=1/3 We X 9.8

Examine for Mep

Mep=1/3 X 16.8 X 9.8 X

We=4/100 X 1 X 420=16.8
A2=10.5
Meap=1 X 0.7 X 18=12.6
K=1
Y=0.7
Mpmax=18
003=2.2/12.6=0.1

(30+10.5) _
1000 =22

Examine for Mey
Mey=1/3 X 16.8 X 9.8 X

We=168

Ad=24.5
Meay=12.6(Same value as Meap)
00'3=3.0/12.6=0.24

Yaw
(30+24.5) _

1000 =3.0

It is possible to use when the sum
of load rates does not exceed 1.

2-190

D 0UN=0+ 0+ +0ln<1

O
g

2.0in=0l1+00+ 002+ O+ 0’3
=0.25+0.022+0.011+0.17+0.24=0.693<1
And it is possible to use.



Applied Load: Wi(kg)

Air Slide Table Series MIXQ

[EEE] Overhang: Ln(mm), Corrected Value for Centre Distance of Moment: An(mm)

Work Mountin
E Coefficient: Kg

Pitch moment Yaw moment

Roll moment

Table mounting

I

K=1
A5

End plate mounting

lia]al

B

>
>

K=0.6

w
O[O l
OlO g
o
w l &
g
€
o
€
Q
€
©
c
>
(a]

Mey
N
N
: L
N
@ .}
|
; \
] 3 \l
% 3 L]

Note) Static moment: Moment by gravity
Dynamic moment: Moment by impact of collision against stopper

Allowable Kinetic Energy: Emax(J)

Maximum Allowable

Allowable Applied Load

Allowable kinetic energy Applied Load: Wmax(kg) Coefficient: 3
Model | \yitout adjuster Adjuster options Max. allowable < 1.0
Rubber stopper| Shock absorber | Metal stopper Model applied load S AN
MXQ 6| 0018 0.018 — 0.009 MXQ 6 06 £ o7 AN
MXQ 8 0.027 0.027 0.054 0.013 MXQ 8 1 g
MXQ12 0.055 0.055 0.11 0.027 MXQ12 2 T 05
MXQ16 0.11 0.1 0.22 0.055 MXQ16 4 ﬁ 04
MXQ20 0.16 0.16 0.32 0.080 MXQ20 6 2
MXQ25 0.24 0.24 0.48 0.12 MXQ25 9 803
ACaution Max. operating speed for metal stopper is 200mm/s. %
Correction Value for Center Position Distance of Moment: An(mm) £ 02
Corrected value for center position distance of moment (Refer to Graph 2) <
Al A3 50 100 200 300 500 700
Model Stroke (mm) A | A | A5 | e Average speed Va (mm/s)
10 20 30 40 50 75 100 | 125 | 150
MXQ 6| 145 | 145 | 145 | 185 | 185 | — | — | — | — 6 13.5 | 13.5 6 Allowable Moment
MXQ 8| 165 | 165 | 185 | 205 | 28 | 285 | — | — | — | 7 |16 |16 | 7 Coefficient: v
MXQi2 | 21 21 21 25 25 34 34 — | — 1 9 19.5 | 19.5 9 = 10
MXQ16 | 27 27 27 27 30 33 425 | 425 | — | 105 | 245 | 245 | 105 kS N\
MXQ20 | 29.5 | 29.5 | 29.5 | 29.5 | 33,5 | 375 | 535 | 55 56.5 | 14 30 30 14 ;8 0.7 N
MXQ25 | 35.5 | 35.5 | 355 | 35.5 | 43 43 50 64 64 16.5 | 37 37 16.5 §
Note) No differences of corrected value according to stroke for A2, A4, A5 and A6 ,2 0.5
Maximum Allowable Moment: Mmax(Nm) S 04
Pitch/Yaw moment: Mpmax/Mymax Roll moment: Mrmax g 0.3
Model Stroke (mm) Stroke (mm) %
10 | 20 | 30 | 40 | 50 | 75 |100 (125|150 | 10 | 20 | 30 | 40 | 50 | 75 |100 | 125|150 % 0.2
MXQ 6| 14| 14| 14| 28| 28| — | — | — | — | 85| 35| 35| 51| 51 —| — | — | — z
MXQ 8| 20| 20| 28| 37| 79| 79| — | — | — 51| 51| 60| 69| 74| 74 — | — | —
MXQ12 | 47| 47| 47| 72| 72|15 B —]— ! 11 11 13 13 | 14 14| — | — 50 100 200 300 500 700
MXQ16 |13 |13 |13 [13 [18 |23 | 42 | 42| — [31 |31 [31 |31 36 | H 4“1 #| — Average speed Va (mm/s) Collision speed V (mm/s)
MXQ20 |19 |19 |19 |19 |27 |36 |84 | 84| 84|47 |47 |47 |47 |57 | 66 | 75| 75| 75 Note) Use average speed when calculating static moment.
MXQ25 |32 |32 |32 [32 |52 |52 | 78 [ 140 | 140 [81 |81 |81 [81 |110 |110 | 130 | 130 | 130 Use collision speed when calculating kinetic moment.
Symbol
Symbol Definition Unit Symbol Definition Unit
An (n=1 to 6) Correction value for center position distance of moment mm Va Average speed mm/s
E Kinetic energy J w Applied load kg
Emax Allowable kinetic energy J Wa Allowable applied load kg
Ln (n=1to 3) Overhang mm We Load equivalent to collision kg
M (Mp, My, Mr) Static moment (Pitch, Yaw, Roll) Nm Wmax Max. allowable applied load kg
Ma (Map, May, Mar) Allowable static moment (Pitch, Yaw, Roll) Nm o Load rate —_—
Me (Mep, Mey) Dynamic moment (Pitch, Yaw) Nm B Applied load coefficient —_
Mea (Meap, Meay) Allowable Dynamic moment (Pitch, Yaw) Nm Y Moment coefficient —_—
Mmax (Mpmax, Mymax, Mrmax) | Maximum allowable moment (Pitch, Yaw, Roll) Nm K Mounting work coefficient —
'} Collision speed Py mm/s
Z;SNIC 2-191



Series MXQ

Dimensions MXQ 6

Basic style

2-M2.5 Thread depth 3

Operating port 2-M5

Refer to adjuster options for dimensions of the stroke adjuster.
Rubber stopper: p.2-216
Metal stopper: p.2-218

Extension adjuster

23*3% Depth 2.5

o7

N-M3 Thread depth 4

Across AA

19.5 (With extension adjuster)

Across BB

:

31
20

'

VenY
\

5.5
4 Retraction adjuster
R Te]
S|
o~ : ;1?7”
oy g
2 o yiamy ¢ L
8 = O &
e 3 © I —
j
g
X ©
4-M2.5 Thread depth 3.5 < E o 2
£ - 3
© N > a
© -
11 <2 1)XF 8.
S
(e}
(mm)
Model F N G H NN | GA | HA | J K M 4 2Z
MXQ6-10 | 22 | 4 6 | 23 | 2 | 13 | 16 | 9 | 17 | 215 | 42 | 415 | 48
MXQ6-20 | 25 | 4 | 13 [ 26 | 2 | 13 | 26 | o [ 27 [315]| 52 | 515 58
MXQ6-30 | 21 | 6 | — | — | 3 [ 29 [ 20 | 9 |37 [415] 62 | 615| 68
MXQ6-40 | 26 | 6 | 11 | 28 | 3 | 39 | 28 | 16 | 48 | 515 | 80 | 795 | 86
MXQ6-50 | 27 | 6 | 21 [ 28 | 3 | 49 | 28 | 9 | 65 |615]| 90 |89.5| 96
2-192 ZS\MC

O ]
N
A
PN
®

|4
9
|

3-M3 Thread depth 5

2 6
3 J | 6 Max. 10 (With retraction adjuster)
0
(%]
b—H
I 0
0 BREG I T [Te}
5 A I ==
(NN-1) XH G
H
FA FB
%= o Bottom View of MXQ6-30
L ai
20 16 13
J@ @000 o :
r ol a
2 CH-
A B
2 4 = ® A Y S WN e
A 44 e
23H9*59% Depth 2.5 HA GA Jg I
o © ©
5 M
4-M2.5 Thread depth 2.5
K 12.5
3 | 65 10.5 | 5.5 105 | 5.5
o 0
o (3]
JH 63 p MEEE K
o 8 Q Q Q (S Q
- 1T ]- l 1T ] l
1L 1 l Y 10 1 l A,
V4 E
Y74 NN-M4 Thread depth 8



Air Slide Table Series MXQ

With buffer (26) MXQ6-CCF

22
(&)
o
N [o-o] ]
e
3-M3 Thread depth 5
A &
D) —lo—O g © -
RAANZA AN A 4 Tl )
& & ¢ <5
28 4
8

= Dimensions not indicated are the same as basic style.

Axial piping (26) MXQ6-CICJP

Operating port 2-M5

:¢ |=£: ; |
ﬁ\{@ . & & ©
o - OO ©
L{ o & &

5.5

——
oo
D
125

[o-o |

* Dimensions not indicated are the same as basic style.

O
Z

2-193



Series MXQ

Dimensions MXQ 6 L/Symmetric Style

Basic style

23H9*3%% Depth 2.5

Refer to adjuster options for dimensions of the stroke adjuster.
Rubber stopper: p.2-216
Metal stopper: p.2-218

Bottom View of MXQ6L-30

HA GA e
. il ©
A B H-
|2 [« o B OB A
i AN S” B/ A\
L 1
TR = g J@
&V ‘(.ll mo _
<
®-0-0—060o0 O ge 20 | 16 | 13
%V I
i (s
|<A "E NN-M4 Thread depth 8
H
(NN-1) X H G | q
0 = = ]t:: “Jreny - HH—{*’*%* | 1t ] N %
[Te) ! S
‘ | 3] o %JQ’SN EE
E% )’::} + 9 S 2 s
0 10.5 5.5 10.5 N 5.5
© 3 J | 6 ! ‘
2 |le Max. 10 Across AA Across BB

2-M2.5 Thread depth 3

/

(With extension adjuster)

Operating port 2-M5

3-M3 Thread depth 5

20

[Te)
_ (ﬂ -1> XF <
4-M2.5 Thread depth 3.5 S 11 2 - 2
g F s
2 g 3 0
— oo 4
2 5| _ :
PN 3 3|
LS N % 9-] © © O
I e e Tom=o=—cn LN CE
{c3 S Q T Q T Y T L
R © || s i 5 !
= T ; P
i *’:H:, 7 oc] IR M
5.5 4 ©° Retraction adjuster
Extension adjuster
23*3% pepth 2.5 N-M3 Thread depth 4
ZZ
Z -
N i:n o
o] (s}
T || 4-4
[s2] n
o 3 ™
\ (mm)
{ 6.5
4-M2.5 Thread depth 2.5
K 12.5
5 M
Model F N G H | NN | GA | HA 1 J K M Z 2z
MXQ6L-10 22 4 6 23 2 13 16 9 17 21.5 42 41.5 48
MXQ6L-20 25 4 13 26 2 13 26 9 27 31.5 52 | 515 58
MXQ6L-30 21 6 — — 3 29 20 9 37 41.5 62 | 61.5 68
MXQ6L-40 26 6 11 28 3 39 28 16 48 51.5 80 | 795 86
MXQ6L-50 27 6 21 28 3 49 28 9 65 61.5 90 | 89.5 96
S

2-194

19.5 (With extension adjuster)




Air Slide Table Series MXQ

With buffer (g6) MXQ6L-CICF

8
28 4
[ e — l——
\ +

+
; 3-M3 Thread depth 5

&
o\ @1
©®
S0

Il oo

19.2

lo-o |

0.3

22

* Dimensions not indicated are the same as basic style.

Axial piping (26) MXQ6L-CCP

[+ ]

9]
)
125

12
5.5
< R A )
o S5 A A (D
U8 o o |°
/ =
| 4 [ |
=I‘=U =‘= =\=;7
. (]
Operating port 2-M5 ©
* Dimensions not indcated are the same as basic style.
Y
< SMC

2-195



Series MXQ

Dimensions MXQ 8

Basic style

Refer to adjuster option for the dimensions of the stroke adjuster.

Rubber stopper: p.2-216
Metal stopper: p.2-218

(NN-1) XH G 12.5 5.7 12.5 5.7
| g2l e 2:
H -l
-2 o 3 2 3 3
9 ol gy 5 ol g
[ E SRl H[ g
m Y m m o m VY Y @ {9
w A4 w w A4 w A4 A4
i <
ﬁ 1A » NN-M4 Thread depth 8
-4 4 g 2
Bl § Across AA Across BB
+0.025 HA GA o
@3H9 5" Depth 3 o
8
g’o
[¢2)
I
2]
6 M
KA 14.6
38 | 7 NA-M3 Thread depth 3.5
Bottom View of MXQ8-30
K N 14.6
7 27 23 6
[sp)
o <
©-0| [o-¢ !
N - L L
~N g VoW WS o
H w A4 w w A4 A4
H @ ©
2Z
Extension adjuster
03 3% Depth 3 N-M3 Thread depth 5
22.5 (With extension adjuster) . Retraction adjuster 6.5 3.5
'g_; —————————
[2}
=
K @ ©
< S ) &)
« NI } ? 3 & & 8 8
- o) © ~
D -~
[§ u)’\@ & ¥ '
E [s)
= s -
5 z F | ,g,_
10 0 N a 4-M3 Thread depth 4
10| 2 |4 (N1)xF g
?O
3]
3-M4 Thread depth 6 2.M3 Thread depth 4
Operating port 2-M5
7
35 | 8 Max. 11 (With retraction adjuster)
<
— l’—’( )
RS W
0 e aa B M
< - %J‘}r - ©
(mm)
Model F N G H NN | GA | HA | J K KA |NA | M y4 Y44
MXQ8-10 25 4 7 25 2 13 19 11 17 | 23.5 — 4 46 | 45.5 53
MXQ8-20 25 4 14 28 2 14 28 10 28 | 335 — 4 56 | 55.5 63
MXQ8-30 26 6 — — 3 29 27 12 40 | 43.5 — 4 70 69.5 77
MXQ8-40 32 6 8 31 3 39 31 14 52 | 53.5 — 4 84 | 83.5 91
MXQ8-50 46 6 8 29 4 37 58 13 78 | 635 | 825| 8 109 [108.5| 116
MXQ8-75 50 6 31 30 4 61 60 12 105 | 88.5 |112.5| 8 135 | 134.5| 142
2-196 4 S\MC




Air Slide Table Series MIXQ

With shock absorber (28) MXQ8-CUBS, BT, B

Adjustable Range of Stroke

(Unit: mm)
Extension End | Retraction End
20 20

+ Dimensions not indicated are the same as basic style.

Retraction end shock absorber

With buffer (e8) MXQ8-CCF

+ Dimensions not indicated are the same as basic style.

With end lock (28) MXQ8-CCR

+ Dimensions not indicated are the same as basic style.

Axial piping (28) MXQ8-CCIP

Dimensions not indicated are the same as basic style.

25 Extension end shock absorber 25
Max. 23 2
[to)
8 /Max. 32 -
o=
N BN
BHD pe— H
© © =
T e e O
ij@j = = >
22.5
® .
o
o oo |
[V
A
S S S ¥
& D) ENZN D) X <
AN N7 & O N NI
@ © © - @,\ @
/"
285 | 5
1
|
3-M4 Thread depth 6
16
[e2]
. acan
c] c] )
| 7Y 7S 7Y I
QoY & g
: ] ] ©
! J
| ™
4 Operating port 2-M5
ble
Hlal @ b % R
lo o €
Operating port 2-M5
™
©
! . PRI
\‘\2@ M\ i i
(Tr o) ® ® ® -
0 N7 SNZ AL __| @
L - AN RN N2
© ® ® ®
(9]
6.5

12
e

14.5

i oo |

2-197



Series MXQ

Dimensions MXQ 8 L/Symmetric Style

Basic style

2-M3 Thread depth 4

Max
(With extension adjuster)

™
<
°
[
2
03H9 "3 *%° Depth 3 HA GA £
4 B| T
A
{ - g
T— i
. . *
o0 —o —0
A
= Ho
(NN-1) X H G
0 B
_"EE\: O -
vl 35 J (INE:!
2 117 .11

Refer to adjuster option for the dimensions of the stroke adjuster.
Rubber stopper: P.2-216
Metal stopper: P.2-218

NN-M4 Thread depth 8

wll

&

©

o @ﬁj 9§l o @ J 9l 5

g g 2 uBR-

12.5 5.7 12.5 5.7
Across AA Across BB

Bottom View of MXQ8L-30

H @

RO3

f'\r\f'\ m &
w\lw w A4

o
A4

23 6

Operating port 2-M5

3-M4 Thread depth 6

= ™
g8 N £
E 12 <2 '1> xF & 10
T ™ > O ]
4-M3 Thread depth 4 5 F P
c So 5
° 2 -
[7] (s
- 5 =
b3 O
= E © © © & NI oD
= =N -1 -
s $«©® QO3 ©8g o1
© 10 @ o - Ly
3 L ‘ e =z
o = S ¥
sy ~
4 S Retraction adjuster
6.5 3.5
Extension adjuster as*g'oaDepth 3 N-M3 Thread depth 5
22.5 (With extension adjuster)
Y74
Y4
] T )
- — 3
o -6 |o-4
[s2)
i 38 |7 <
K 14.6
NA-M3 Thread depth 3.5
3.8 7
KA 14.6
6 M
(mm)

Model F N G H | NN | GA | HA | J K [KAINA | M Y4 Y44
MXQ8L-10 25 4 7 25 2 13 19 11 17 | 23.5 — 4 46 | 45.5 53
MXQ8L-20 25 4 14 28 2 14 28 10 28 | 335 — 4 56 55.5 63
MXQ8L-30 26 6 — — 3 29 27 12 40 | 435 — 4 70 69.5 77
MXQ8L-40 32 6 8 31 3 39 31 14 52 | 563.5 — 4 84 | 83.5 91
MXQ8L-50 46 6 8 29 4 37 58 13 78 | 635 | 825| 8 109 [ 108.5| 116
MXQ8L-75 50 6 31 30 4 61 60 12 105 | 88.5 [1125| 8 135 [134.5| 142

2-198 & S\MC



Air Slide Table Series MXQ

With shock absorber (8) MXQ8L-CIOOBS, BT, B

QUU] i © &
& TToD—o—@
© © @ 1 H
e —° ;
i 8 Max. 32 -
Adjustable Range of Stroke - -
(Unit: mm) 2 Max. 23

Extension End | Retraction End 25 Extension end shock absorber

0
-
-

20 20

* Dimensions not indicated are the same as basic style.

With buffer (e8) MXQ8L-CICF

Retraction end shock absorber

3-M4 Thread depth 6

e
K =

34
24
12

285
4 © ¢
ECa—Ca—
d © d
8]
&
[o-o] |
Dimensions not indicated are the same as basic style. g 22.5

With end lock (e8) MXQS8L-CCOR

ool |

o9
o

&
17.5

4 Operating port 2-M5

* Dimensions not indicated are the same as basic style.

Axial piping (28) MXQ8L-CICIP

=3
oE

L=

Operating port 2-M5

5o

T

oo |
z
&

|
N
40.5

3

16

14.5

¢ ¢ i
¢ ¢ ©
= %
@
©

* Dimensions not indicated are the same as basic style.

O
Z

2-199



Series MXQ

Dimensions MXQ1 2

Refer to adjuster option for the dimensions of the stroke adjuster.
Rubber stopper: P.2-216
Metal stopper: P.2-218

Basic style

(NN-1) X H . G
H 16 8 16 8
M "B
_UU‘]% JU
o 0 o ARE:
L < 4 | » < H | ®
‘@ Q j] [SEIRS Q B _1 SIS
A © A AN D © — % — % ]
E YN WYY hd o b
‘—L = —
i i N EL
A 5 @ 3 NN-M5 Thread depth 10
HA GA 2 Across AA Across BB
24H9'3%*°Depth 4 a
?'o
[«2)
I
8 M <
KA 18.5
5 85 NA-M4 Thread depth 4
K 18.5 Bottom View of MXQ12-40
o 5| 85 39 29 9
o
oo & F—
~ L [
N 3 8
Y4
z2z [} ©
Extension adjuster
8 45 04H9 9% Depth 4 N-M4 Thread depth 5 29.5 (With extension adjuster)
Retraction adjuster
5
A4 e —
8 =
3 @ @ & © 3
I oot 0 O |+ 395«
Ol 10
a QJA 9 @ @ ©
= - T S— w0
o <
s F :T a7 5
4-M4 Thread depth 6 53 N 4)XF o 13
) 16 2 a
?'o
T 3-M5 Thread depth 8
<
2-M4 Thread depth 6 Operating port 2-M5
2,95
4.75 J | 10 Max. 13 (With extension stroke adjuster)
0 R
- o
- 0
N O i I
o] o o] Tt
(mm)
Model F N G H NN | GA | HA | J K KA | NA M y4 2z
MXQ12- 10 28 4 18 32 2 18 32 12 34| 265 — 4 67 66 76
MXQ12- 20 28 4 18 32 2 18 32 12 34| 365 — 4 67 66 76
MXQ12- 30 38 4 20 40 2 20 40 14 42 | 465 — 4 77 76 86
MXQ12- 40 | 34 6 — — 3 38 39 15 58 | 56.5| — 4 94 93 | 103
MXQ12- 50 34 6 9 39 3 48 39 13 70| 665 — 4 104 | 103 113
MXQ12- 75 36 8 23 36 4 59 72 17 110 | 91.5|117.5| 8 148 | 147 157
MXQ12-100 36 10 12 36 5 84 72 17 135 |116.5|142.5| 8 173 | 172 182

O
g

2-200



Air Slide Table Series MXQ

With shock absorber(g12) MXQ12-OJOBS, BT, B

Extension end shock absorber ~ Retraction end shock absorber

205 Max. 18 29.5
Max. 30

Adjustable Range of Stroke

(Unit: mm) )
Extension End | Retraction End [NZANS %ﬁ"@@—@ @ ’@

18 18 e © © &

NS

* Dimensions not indicated are the same as basic style.

™ 29
With buffer(e12) MXQ12-OOF  © ,
o [eo] |
% & A
B ) R SR € B 31 ©
% % % = 5@
37 | 5
13
* Dimensions not indicated are the same as basic style. 3-M5 Thread depth 8
With end lock(e12) MXQ12-OOR 2, o

‘ © © ©
T ] —
5 Operating port 2-M5
(3 @ ® -E[— 8
ool | €
+ Dimensions not indicated are the same as basic style.
Axial piping(e12) MXQ12-0OCOP Operating port 2-M5
@
I 1|
.@ f
« Q Q —
Bets O —oO—O "
€ © hod
NQlpl T
8.5

13
f—|

* Dimensions not indicated are the same as basic style.

o
D
16.5

SVC ' 2-201

O



Series MXQ

Dimensions MXQ1 2 LlSymmetric Style

Refer to adjuster option for the dimension of stroke adjuster.
Rubber stopper: P.2-216
Metal stopper:P.2-218

Basic style <
a
[
[a)
8 NN-M5 Thread depth 10
24H9*3 % Depth 4 HA _ GA L go
5 £
A B
-4 = 3D h
! . - bl 1 A
T oS | — [ | —— [
- N REIEY P 0| o
| ) < % ol | « ol ©
Q Q Q E (S
@e}@,@e@ res) o L L
r 16 |8 16 |8
A B Across AA Across BB
A -
(NN-1) X H G
Bottom View of MXQ12L-40
i SRIER E ) © ©
ieeq PP e o A A A
i ’(’} © /\J’ T \NTASANY ’@—9*’ ©
0 J 110 E
2-M4 Thread depth 6 4.75 )
» o5 Operating port 2-M5 39 | 29 9
Max.13 (With retraction adjuster)
pul 3-M5 Thread depth 8
o
N_ a
S (N1)xF : i
4-M4 Thread depth 6 2 F ‘f: 10 5
s = - o
(UY S| = =
(2]
E@@-{ 8 £ 3] @ @ @ o ©
S g £ ) o & & ,
! S T - == e 3
| 'd i f
8 45 N-M4 Thread depth 5
24H9*3%°Depth 4\ Extension adjuster
77 29.5 (With extension adjuster)
Z -
o ji= x| g
N — —— <
©© © &
8 5 85
K 185 NA-M4 Thread depth 4
5 85
KA 18.5
8 M
(mm)
Model F N G H NN | GA | HA | J K KA | NA M 4 Y4
MXQ12L- 10| 28 4 18 32 2 18 32 12 34| 265 — 4 67 66 76
MXQ12L- 20 | 28 4 18 32 2 18 32 12 34 | 365 — 4 67 66 76
MXQ12L- 30 | 38 4 20 40 2 20 40 14 42 | 465 — 4 77 76 86
MXQ12L- 40 | 34 6 — — 3 38 39 15 58 | 56.5| — 4 94 93 | 103
MXQ12L- 50 | 34 6 9 39 3 48 39 13 70 | 66.5| — 4 104 | 103 | 113
MXQ12L- 75 | 36 8 23 36 4 59 72 17 110 | 91.5|117.5| 8 148 | 147 | 157
MXQ12L-100 | 36 10 12 36 5 84 72 17 135 |116.5|142.5| 8 173 | 172 182

O
g

2-202



Air Slide Table Series MXQ

With shock absorber(g12) MXQ12L-COCOBS, BT, B

o

© © <
G @ e e Oy
®  ° o —h
t
10

T T
Adjustable Range of _Stroke f M. 30
(Unit: mm) 205
Extension End | Retraction End [ Max. 18
18 18 Extension end shock absorber

Retraction end shock absorber

* Dimensions not indicated are the same as basic style.

3-M5 Thread depth 8

With buffer(e12) MXQ12L-0O0F

13
7 F
% B B 9
+—— o0 —& 2[R 4 o
% ® 7] s
N
Q :
leo| |
[} 29
o
* Dimensions not indicated are the same as basic style.
With end lock(g12) MXQ12L-OCR B
5 Operating port 2-M5

& -
.
I
L.

T
22 ®
* Dimensions not indicated are the same as basic style.
Axial piping(e12) MXQ12L-0O0OP — I
e SIE
8.5 13
'Lj_' [
I © ©
Bz OO s
© ©
/& =
L .
‘ ®
©
Operating port 2-M5
* Dimensions not indicated are the same as basic style.
ZS\NC 2-203



Series MXQ

Dimensions MXQ1 6

(NN-1) XH .G _ Refer to adjuster option for the dimension of stroke adjuster.
H Rubber stopper: P.2-216
BaSic St Ie }‘A }‘75 Metal stopper: P.2-218
y 21 .9 21 .9
RN 51 5 1A 52
H M Jo| o
A A A A A M ) o= v ol 2
N Q ° o] | S8 SRR
{1 < I T l I T l
- Q I 1 I I 1 I
3
- i H f} r | & |
[ =
A 6
+0.030
@5H9 "o Depth 5 HA GA NN-M6 Thread depth 12
Across AA Across BB
10 M
KA 21
55 | 10 NA-M5 Thread depth 6.5 .
K 21 > Bottom View of MXQ16-50
(] 1
2 5.5 - 0 45 35 13
©-0 |[©- |
~ = H g i
2 H | & min
I LA - A A A o
Y Y\¢Y YV hd
Y4 BN
Y44 H @ @
Extension stroke adjuster
11 5.5 N-M5 Thread depth 6 36.5 (With extension adjuster)
o5H9 *39% Depth 5
6 Retraction adjuster
P PRNLG R .
B = =T
2 -
[Te) |72 1 s 5 Y N | R -
S © S & -
PN - ©
e —— e S NN 1=
20
= 59 [© & ® 1AV
% Q 0 L%//\ 6@
v )
£ b — S [A)
= [T5)
= F £ Tl 6.5
7o) o [s2]
4-M5 Thread depth 7 o N 3 14
\n 29 < -1) XF 8
2 3
> g° 3-M6 Thread depth 10
2-M5 Thread depth 8 2
n
1" Operating port 2-M5
0 55 J | 12 Max.12 (With retraction adjuster)
Te]
N =
A4 =
I L I SR I ZF::?
b ot kéﬁé[]@*@ﬂ:: I
(mm)
Model F N G H NN | GA | HA | J K KA | NA M Y4 Y74
MXQ16- 10 38 4 18 39 2 18 39 12 40 28 — 4 78 77 89
MXQ16- 20 38 4 18 39 2 18 39 12 40 38 — 4 78 77 89
MXQ16- 30 48 4 19 48 2 19 48 12 50 48 — 4 88 87 99
MXQ16- 40 58 4 19 58 2 19 58 12 60 58 — 4 98 97 109
MXQ16- 50 40 6 — — 3 48 45 20 68 68 91 8 114 | 113 125
MXQ16- 75 46 6 21 52 3 73 52 15 105 93 | 128 8 146 | 145 157
MXQ16-100 44 8 36 44 4 80 88 18 145 | 118 | 166 8 189 | 188 | 200
MXQ16-125 44 10 17 44 5 105 88 23 165 | 143 191 8 214 | 213 225

O
g

2-204



Air Slide Table Series MIXQ

With shock absorber(g16) MXQ16-CCBS, BT, B

Extension end shock absorber

Retraction end shock absorber

36.5 Max. 20 36.5
H_’ 12 /Max. 34
= N
Y — : - R
Adjustable Range of Stroke S &> o & 1 -
(Unit: mm) n PN 7@ @
Extension End | Retraction End T T J’»
29 2o + @ @ @
* Dimensions not indicated are the same as basic style.
With buffer(e16) MXQ16-00F %
<)
R [6-6] |
8
f“—‘ -
: Q)
© < < I\
D—o—+  3J|¢ o
A S WY
41 7 6.5
. 1155
3-M6 Thread depth 10
= Dimensions not indicated are the same as basic style.
With end lock(g16) MXQ16-CCR 25
4@] — mm
© © ©
A0 FNIZN D) 0
NN < 8
© < ©
{ N
6 Operating port 2-M5
ai g © 203a H ¢
oo | ©
* Dimensions not indicated are the same as basic style.
Axial piping(216) MXQ16-000P Operating port 2-M5 .
©
— T
R S —
Q. o O @ e‘ @ @_E, 0
1o @ @ %
[Pl

* Dimensions not indicated are the same as basic style.

lo-¢]

—
5%

D
T

O
Z

2-205



Series MXQ

Dimensions MXQ1 6 LlSymmetric Style

Refer to adjuster option for the dimension of stroke adjuster.
Rubber stopper: P.2-216
Metal stopper: P.2-218

Basic style i
£
g
o5H9 *0 %’ Depth 5 HA GA N O| NN-M6 Thread depth 12
6 3
A B [=]=]
= <~ °
¥ - z ! !
,_T d t} + R
I T I I T I
e g [ — [ ! | Y
1 ~— [To} INTo) - 0 0
S-o-—o— & g @%J 32l g @EJ 32
min AN LA
H 21 |9 21 |9
}‘A H B Across AA Across BB
(NN-1) XH G, Bottom View of MXQ16L-50
h LA A BB A
IS ¢
ol 55 J 1|12 "
[Te] n|
3 11 ,
2-M5 Thread depth 8 Operating port 2-M5 45 35 13
Max.12 (With retraction adjuster)
w0
£ 3-M6 Thread depth 10
N o)
o L2 (3)xF g 4,
o So
4-M5 Thread depth 7 3 F > 0 o185
° - e ®
® 6 —
= ; 0
2 <
© 2110 -
Soslg > © >
: S ; 2
Fas I < o i
of £ PO— @+ %8 &
i = 1% o A S—
N . T
i/ Vil @ i
l CHOYY 6 Retraction adjuster
i 55 40,030 Extension adjuster N-M5 Thread depth 6
@5H9 *3%%pepth 5~ ——
Z2Z 36.5 (With extension adjuster)
Y4
- _E
] L o ~
3 — 7w @
©-©O| |-
) 55 | [10
o
K 21
NA-M5 Thread depth 6.5
55 10
KA 21
10 M
(mm)
Model F N G H NN | GA | HA | J K KA |NA | M 4 Y44
MXQ16L- 10 | 38 4 18 39 2 18 39 12 40 28 — 4 78 77 89
MXQ16L- 20 | 38 4 18 39 2 18 39 12 40 38 — 4 78 77 89
MXQ16L- 30 | 48 4 19 48 2 19 48 12 50 48 — 4 88 87 99
MXQ16L- 40 | 58 4 19 58 2 19 58 12 60 58 — 4 98 97 | 109
MXQ16L- 50 | 40 6 — — 3 48 45 20 68 68 91 8 114 | 113 | 125
MXQ16L- 75 | 46 6 21 52 3 73 52 15 105 93 | 128 8 146 | 145 157
MXQ16L-100 | 44 8 36 44 4 80 88 18 145 | 118 | 166 8 189 | 188 | 200
MXQ16L-125 | 44 10 17 44 5 105 88 23 165 | 143 191 8 214 | 213 | 225

2-206 2 SNC



Air Slide Table Series MIXQ

With shock absorber(g16) MXQ16L-L1LIBS, BT, B

: 5 () 7N 7Y % E
N AN h~4
- <

foRRaato!

i

&

J 1
1 | T

i; gi 1 I -t
Adjustable Range of Stroke H §
(Unit: mm) L 0 12 |\Max. 34

Extension End |Retraction End 36.5 Max. 20 36.5
22 22 Extension end shock absorber Retraction end shock absorber

* Dimensions not indicated are the same as basic style.

12.5

With buffer(o16) MXQ16L-00F 3Me__ Threaddepth 13 155 y
© © @ 3
6@ o @ O] 3l g
@ @ @
” loo] |
g 30

* Dimensions not indicated are the same as basic style.

With end lock(e16) MXQ16L-LICIR

[ ] - @j ;
il b =21
—Ht 1 o
ol ¢ & | J\
6 3\ Operating port 2-M5
[ Z
@ & @ 0
} 7Y N7 a 0
N s o) N
© < <
I T = =
25
= Dimensions not indicated are the same as basic style.
Axial piping(216) MXQ16L-C1CIP |: [6-&] ]
ey { B
fole 9
BLA
1
0 b
| © ) 7N )
o 3 w = w w o
o | 3 S S ’
* Dimensions not indicated are the same as basic style. ] = [ T
I 1 [ c"-
Operating port 2-M5 =

Z;S\NC 2-207



Series MXQ
Dimensions MXQ 20

Refer to adjuster option for the dimension of stroke adjuster.
Rubber stopper: P.2-216

Basic Style (NN-1) XH m G Metal stopper: P.2-218
|
}_A .B
: 26 10.5 26 10.5
_1
1A A A A A oy - F\ 0|~
TOQ—99 © 3 als
- kj b 8| ®
© 1 al T ‘7 %
- H 3 * B
| ~. 1N
"A 6 B B kj
. B
HA A £|
@5H9 *3%%°Depth 5 w G 3
OQ NN-M6 Thread depth 12
@
S
= Across AA Across BB
I
13 M [
KA 25
65| 12 NA-M6 Thread depth 6
K 25 Bottom View of MXQ20-50
12
9 6.5 48 3 12
O O[]0 O J
0 H H v
s ol E«k
I Do o—=9
4 _10
zZ I o
15 6 Extension adjuster N.\5 Thread depth 8 45.5 (With extension adjuster)
6 Retraction adjuster
— T b
S . VA
RO < o 2
ERY =S 2 —{=
j > m 5 é Q m ’( . 0 '}
a\s/ 8 -
B 5 & @ —%E’i@——ié 38R 9
D&, S fy + ©
i 2 ol 75 | 7]
&&__/J 8 2| 8 © © © LA
L A, :C—‘, T T ]
' = F < 2l o
. 0 3 -
4-M5 Thread depth 8 < N D F §. 18
27 2 3
oo 3-M6 Thread depth 13
5
25H9 *59%Depth 5
2-M6 Thread depth 7 Operating port 2-Rc(PT)1/8
25 13
0 6.5 J |l 13 Max.14 (With retraction adjuster)
©

g

- i
I 1
(mm)

Model F N G H NN | GA | HA | J K KA |NA | M 4 Y44
MXQ20- 10 45 4 22 46 2 18 50 16 46 31 — 4 94 | 92.5| 108
MXQ20- 20 40 4 22 46 2 18 50 16 46 41 — 4 94 | 92.5| 108
MXQ20- 30 48 4 22 46 2 18 50 16 46 51 — 4 94 | 92.5| 108
MXQ20- 40 58 4 22 56 2 22 56 16 56 61 = 4 104 |102.5| 118
MXQ20- 50 42 6 — — 3 48 48 18 72 71 — 4 122 |120.5| 136
MXQ20- 75 55 6 17 56 3 73 56 23 100 96 | 126 8 155 |153.5| 169
MXQ20-100 50 8 18 56 4 74 | 112 25 155 | 121 183 8 212 [210.5| 226
MXQ20-125 55 8 37 59 4 96 | 118 18 190 | 146 | 211 8 240 |238.5| 254
MXQ20-150 62 8 56 62 4 118 | 124 21 215 | 171 | 239 8 268 |266.5| 282

2-208 2 SNC



Air Slide Table Series MXQ

With shock absorber(220) MXQ20-CJCBS, BT, B

Adjustable Range of Stroke

(Unit: mm)
Extension End | Retraction End
35 35

Retraction end shock absorber

* Dimensions not indicated are the same as basic style.

With buffer(e20) MXQ20-OCF

* Dimensions not indicated are the same as basic style.

With end lock(220) MXQ20-C0CR

46.5 Extension end shock absorber
Max. 35
P 13, /Max. 54
] 2= SO e I
= A
{ A ‘L J‘ _'”:‘: ]
® o e
cO e @ DD
+ 4 @ 4
© 30.5
o
o ]@ ®[ ]
g
—
4 & i
O—o-O—@ 3
© @ a
44.5
3-M6 Thread depth 12
33
e
& & 4
Q— @ —©& =
© @ &
= x jm
| ™
8
& N
& © @ i 3
oo |

* Dimensions not indicated are the same as basic style.

Axial piping(220) MXQ20-CJCP

* Dimensions not indicated are the same as basic style.

46.5

Operating port 2-Rc(PT)1/8

Operating port 2-Rc(PT)1/8

11.5

32

& & & ©
© ¢® ©r8°
@ -© &
‘20
FZ [} ol =
loo] |

2-209



Series MXQ

Dimensions MXQ 20 LlSymmetric Style

Refer to adjuster option for the dimension of stroke adjuster.

Te]
< Rubber stopper: P.2-216
" 53 Metal stopper: P.2-218
[
Basic style 8
*% NN-M6 Thread depth 12
o5H9 *3%°Depth 5 HA GA
A : x an e
:\—x \) / | kj ! kj b !
wn T i T
‘_- i o T I 8 T I
)
[E_ ~ LA « = 4R ol Tl G N ol =
SHed Ge & AN 3 ol 8| \LJ 3| ©
Y A A
1T 26 105 26 10.5
}_A H | B Across AA Across BB
(NN-1) XH G Bottom View of MXQ20L-50
=1 - ¢;¢ . e
- ¢\ - .|
i X i © G
HAR -4
0 I E
e ‘) < o
o X -« N o
0| 6.5 _
2-M6 Thread depth 7 25|13 1
Operating port 2-Rc(PT)1/8 48 N 36 12
Max.14 (With retraction adjuster)
2 3-M6 Thread depth 13
3
= N 8
B 27 <2 '1> xF . B 8
4-M5 Thread depth 8 3 F 2° © 7
k] (=2} o™
© T -
g L e = P
g IZNe
[%] @ -G nY
RS © @ ©- SI &% (@
) Rz Y -t o] © 0| — H Py
£ o & & ——— It ® 9 R ] N4
£ p &7 < o
= & & & -2 ﬁ\ -~
L ha¥ Iy /V@
‘ S —
B L= T ¥ PR
! A /
[ L 6
Retraction adjuster
15 |6 /5Ho *8'030 Depth 5\ Extension adjuster N-M5 Thread depth 8
Y74
Z > 45.5 (With extension adjuster)
2 0| §
< — = ©
© QO QN
) 6.5 12
o
K 25
NA-M6 Thread depth 6
6.5 | |12
KA 25
13 M
(mm)
Model F N G H NN | GA | HA | J K KA | NA M 4 2z
MXQ20L- 10 | 45 4 22 46 2 18 50 16 46 31 — 4 94 | 92.5| 108
MXQ20L- 20 | 40 4 22 46 2 18 50 16 46 41 — 4 94 | 92.5| 108
MXQ20L- 30 | 48 4 22 46 2 18 50 16 46 51 — 4 94 | 92.5| 108
MXQ20L- 40 | 58 4 22 56 2 22 56 16 56 61 — 4 104 [102.5]| 118
MXQ20L- 50 | 42 6 — — 3 48 48 18 72 71 — 4 122 [120.5| 136
MXQ20L- 75 | 55 6 17 56 3 73 56 23 100 96 | 126 8 155 |153.5| 169
MXQ20L-100 | 50 8 18 56 4 74 | 112 25 155 | 121 183 8 212 |210.5| 226
MXQ20L-125 | 55 8 37 59 4 96 | 118 18 190 | 146 | 211 8 240 (238.5| 254
MXQ20L-150 | 62 8 56 62 4 118 | 124 21 215 | 171 239 8 268 |266.5| 282
2-210 & S\NC



Air Slide Table Series MXQ

With shock absorber(920) MXQ20L-COCOBS, BT, B

% % o |
i D —o—B——O1 -
r % ® |

Adjustable Range of Stroke = |_ i "
(Unit: mm) . _._ .. = 13| Max. 54

Extension End |Retraction End 0:5 ], 465
35 35 -

Retraction end shock absorber

Extension end shock absorber

* Dimensions not indicated are the same as basic style.

. 3-M6  Thread depth 12 18
With buffer(e20) MXQ20L-CICF Sk
© d ©
*Q—O—O 3
& & <
i =
o
N oo |
0 30.5
=]
* Dimensions not indicated are the same as basic style.
With end lock(220) MXQ20L-COCOR
[®9]
] N 3
o] © » N\ 4
8 \ Operating port 2-Rc(PT)1/8
| I
r"_‘i"ﬂ
% ® ® o
+-——0—@ 2
< & <
33
* Dimensions not indicated are the same as basic style.
Axial piping(220) MXQ20L-0OCP t P9 |
{iZe Sk
14 20|
d ol <
$-@-————©@ 9
& & 4
L_-lm IL_
' 0
* Dimensions not indicated are the same as basic style. Operating port 2-Rc(PT)1/8 i

Z;SNC 2-211



Series MXQ
Dimensions MXQ 25

Refer to adjuster option for the dimension of stroke adjuster.

Rubber stopper: p.2-216
Metal stopper: p.2-218

Basic style (NN-1) X H G
A H . & 32 11.5 32 115
A f
1 @W o o W ol x|
o o o o
N4 —H — [
w| [[HL AR !
— %y
S— ;{’ ~ -
A 7 B —
= HA Gf © NN-M8 Thread depth 16
@6H9 *3%*°Depth 6 =
L Across AA Across BB
15 M | NANg Thread dephs
KA 31
K o1 8, 15 Bottom View of MXQ25-75
[t} 8 15 i 65 50 22
[}
©-0 [0-o0F=
0 L 9 1
g | 5
-1E @O s A A ©
I N2
Z -
Y44 | & &
(mm)
Extension adjuster 0030
) ) ) +0. . )
54.5 (With extension adjuster) 26H9 """ Depth 6 N 16 Thread depth 11 Retraction adjuster 20 6.5
7
O
5 ‘ &
2 4.2
'-% @ o d @ =21
< S XA 74 4 ,4@,7,1'L >
3 Q=0 =Sl {E
Q
i HE ® ® ® © :
g Y
= ‘ : »
0 F «© | ™
3 £ - 4-M6 Thread depth 10
21.5 L <N _1> XF & P
30 | 2 Jg g
3-M8 Thread depth 15 So
2
©
2-M8 Thread depth 9 Operating port 2-Rc(PT)1/8
4 16‘
© 8 J | 15 Max.17 (With retraction adjuster)
|
© 3% :
-
i B s =y
Model F N G H | NN | GA | HA | J K |KA[NA | M 4 Y44
MXQ25- 10 55 4 23 55 2 23 55 16 56 35 — 4 107 [105.5] 123
MXQ25- 20 46 4 23 55 2 23 55 16 56 45 — 4 107 |105.5| 128
MXQ25- 30 55 4 23 55 2 23 55 16 56 55 — 4 107 [105.5| 123
MXQ25- 40 65 4 23 65 2 23 65 16 66 65 — 4 117 |115.5| 133
MXQ25- 50 75 4 32 80 2 32 80 16 90 75 — 4 141 |139.5| 157
MXQ25- 75 60 6 — = 3 72 65 31 100 | 100 — 4 166 |164.5| 182
MXQ25-100 48 8 44 44 4 88 88 20 150 | 125 170 8 205 |203.5| 221
MXQ25-125 60 8 31 66 4 97 | 132 18 205 | 150 | 223 8 258 [256.5| 274
MXQ25-150 65 8 56 66 4 122 | 132 18 230 | 175 | 248 8 283 |281.5| 299
2-212 & S\NC




Air Slide Table Series MIXQ

With shock absorber(g25) MXQ25-C00BS, BT, B

Adjustable Range of Stroke

(Unit: mm)
Extension End | Retraction End
35 35

Extension end shock absorber

Retraction end shock absorber

54.5 Max. 29 54.5
15 Max. 52

[Te}

H == ©
S = = T
NS e} © © — A\ @
o0 PNIZN A\ D
¥ N4 N4 A\ ¢
° ° ® @Q <

* Dimensions not indicated are the same as basic style.

With buffer(e25) MXQ25-00F

* Dimensions not indicated are the same as basic style.

With end lock(e25) MXQ25-C0CR

* Dimensions not indicated are the same as basic style.

Axial piping(925) MXQ25-C1C0P

* Dimensions not indicated are the same as basic style.

O
Z

2 35
o] |
0 !
2
@ @ @ V&
co—e o 7y
o & @ s -
50 ‘ 6'5
3-M8 Thread depth 15 215
37
& @ @
P PR ) -
¥ N4 ¥ >
& @ @
| _— T T —
1 | ™
Operating port 2-Rc(PT)1/8
8
HDA 0
el @ ® E
ool |
Operating port 2-Rc(PT)1/8 ,Lr_)
= e —
@ @ ®
&—6—61&"
@ @ ]
20
<1_7> |
N _@ [
*__‘Q@ D] o
ool |

2-213



Series MXQ

Dimensions MXQ 25 L/Symmetric Style

Basic style

Refer to adjuster option for the dimension of stroke adjuster.

Rubber stopper: p.2-216
Metal stopper: p.2-218

0.030
a6H9 5" Depth 6 HA GA NN-M8 Thread depth 16
-2 R —
. | © & A
32} I
—H -1
PN A L
NN AR AN B AV o | o o |
- £ %J Bl U Bl
g L_an A L_n
£ 32 1.5 32 115
LA H B o
NN-1) X H G o Across AA Across BB
. I
©
Bottom View of MXQ25L-75
@ - — T -
- I T & @
© é { Fgx\ -
2 D A\
AN -4 ~
o] =D < e ©eo——0
8 J 1 |15 |
4 ||16 Operating port 2-Rc(PT)1/8
2-M8 Thread depth 9 Max.17 (With retraction adjuster) 65 50 22
©
£ 3-M8 Thread depth 15
N D
% (N-1)xF 3
4-M6 Thread depth 10 I 21.5
F o © .65
== e
—_ © - ¥
S| 5 ! B @—
w
% N~ \ +
s|® ] © o} ©] N 2 @@
o © , - I oglxl g 3° O—o&
5 BN e e s R e S Sl 4
=4 iz
= o o { o S % @
= o 7
© I Y
- - 7
20 6.5 QGHQ"S'OaO Depth 6 N-M6 Thread depth 11 Retraction adjuster
Extension adjuster
zz R
Z 54.5 (With extension adjuster)
n IR Yo}
o i 0
< — ]
00 10—
o 8 | 15]
o
K 31 NA-M8 Thread depth 8
8 15
KA 31
15 M
(mm)
Model F N G H NN | GA | HA | J K KA | NA M 4 Y4
MXQ25L- 10| 55 4 23 55 2 23 55 16 56 35 — 4 107 [105.5| 123
MXQ25L- 20 | 46 4 23 55 2 23 55 16 56 45 = 4 107 |105.5| 123
MXQ25L- 30 | 55 4 23 55 2 23 55 16 56 55 — 4 107 [105.5| 123
MXQ25L- 40 | 65 4 23 65 2 23 65 16 66 65 — 4 117 [115.5| 133
MXQ25L- 50 | 75 4 32 80 2 32 80 16 90 75 — 4 141 [139.5| 157
MXQ25L- 75 | 60 6 — — 3 72 65 31 100 | 100 — 4 166 |164.5| 182
MXQ25L-100 | 48 8 44 44 4 88 88 20 150 | 125 | 170 8 205 |203.5| 221
MXQ25L-125 | 60 8 31 66 4 97 | 132 205 | 150 | 223 | 8 | 258 |256.5| 274
MXQ25L-150 | 65 8 56 | 66 4 | 122 | 132 230 | 175 | 248 | 8 | 283 |281.5| 299

2-214



Air Slide Table Series

mxaQ

With shock absorber(g25) MXQ25L-C0CBS, BT, B

. © @ @ ’@@ 3
Adjustable Range of Stroke N N N -
(Unit: mm) N ¥ N4 X
Extension End | Retraction End @ @ @ ' ’@@
35 35 — =
e |
=3 15| Max.52 | <} |
Max. 29 Retraction end shock absorber %45 |
Extension end shock absorber
* Dimensions not indicated are the same as basic style.
) 3-M8 Thread depth 15 215
With buffer(e25) MXQ25L-0000F _ so 6.5
@ ® @ NI -
P ———— r
& & & 5
0
2 ,
ool |
gT 35
* Dimensions not indicated are the same as basic style.
With end lock(925) MXQ25L-CCR o6 |
i o % o
0T ! @ <
@ 1
s Operating port 2-Rc(PT)1/8
[ S
U] 1 —
@ el el
D A D) >
© % © @
@ @ @
| 37
* Dimensions not indicated are the same as basic style.
. . s -6 i
Axial piping(225) MXQ25L-CCP — °°l |
o €2 D] 8
¥
417+ 20
b
¢ © o &
5] ° & —o+ia,
© @ @
2 — o |
‘ ‘ 0
* Dimensions not indicated are the same as basic style. Operating port 2-Rc(PT)1/8 -

ZSNC

2-215



Series MXQ

Adjuster Dimensions

Rubber stopper(AS, AT)
Extension End
Body mounting = Model é‘\"g{(lésrgr?g% Body mounting Table mounting
A P D mm) | A|B|C|D|E|F|G| M P |[H|J |K| Q”
M a ] MXQ 6 mg: Z_Xﬂ 1: 6 |19 | 8|7 ;:—Z 7 |25| M5 |M25X6[12.5| 6 | 8.3M25X8
@ o gli MXQ-AS 8 5 1195 |
m NN MXQ 8 [MXQ-AS 8X11| 15 | 7 |22 | 9 | 7.5/205| 8 |3 M6 | M3X8 [14.6| 7 | 9.8{M3 X 10
i H MXQ-AS 8-X12| 25 5
E G MXQ-AS12 5 235 |
c MXQ12 |MXQ-AS12-X11| 15 | 95(29 |14 |11 |335|12 |4 | M8X1|M4X12(185[10.5[12.7|M4 X 12
MXQ-AS12-X12| 25 435
MXQ-AS16 5 245
Table mounting MXQ16 [MxQ-AS16-X11| 15 |11 |36 |17 |13.5[345] 14 |5 |Mi0X1|MsX 16|21 [13 [15 |M5X 16
Q MXQ-AS16-X12| 25 45
— MXQ-AS20 5 275 |
= :I MXQ20 |MXQ-AS20-X11| 15 |13 |45 |20 |16 [37.5|17 |6 |M12X125|M6X 16|25 |16 |18 |M6EX16
K H MXQ-AS20-X12 25 475
MXQ-AS25 5 325 |
MXQ25 |MXQ-AS25-X11| 15 |16 |54 |22 (18 [425|19 |6 [M14X15M8X 18|31 (17 |20 |M8X18
MXQ-AS25-X12| 25 525

Note 1) Size of hexagon head cap screw

Retraction End

Adjusting
Size Model strokerange| A B C D E F G H J K®
(mm)

MXQ 6 [XQAT 6 5 1475 |19 105 | 8 165 1 7 25 M5 |M25X6
MXQ-AT 6-X11| 15 26.5
MXQ-AT 8 5 19.5

D MXQ 8 |MXQ-AT 8-x11| 15 |21 22 125 [10 295 | 8 8 3 M6 M3 X 8
H MXQ-AT 8-X12| 25 39.5
| MXQ-AT12 5 23.5

W 5 MXQ12 |MXQ-AT12-X11| 15 |28 29 16 |16 33.5 |10 12 4 M8 X1 | M4 X 10
'/K /7S MXQ-AT12-X12| 25 435
MXQ-AT16 5 245

MXQ16 |MXQ-AT16-X11| 15 [335 [855 |20 |17 345 |12 14 5 M10X 1| M5X 12
A MXQ-AT16-X12| 25 44.5
MXQ-AT20 5 27.5

MXQ20 | MXQ-AT20-X11| 15 |41 445 |25 |23 375 |13 17 6 M12 X 1.25| M5 X 14
MXQ-AT20-X12| 25 475
MXQ-AT25 5 32,5

MXQ25 | MXQ-AT25-X11| 15 |49 535 |31 |28 425 |15 19 6 M14 X 1.5| M6 X 18
MXQ-AT25-X12| 25 52.5

Note 1) Size of hexagon head cap screw

O
g

2-216



Air Slide Table Series MXQ

With Shock Adsorber(BS, BT)
Extension End

Body mounting

Table mounting

M —
E
m (= 1 Q
H IS D
N~
E E1 G il ‘3 @@ ﬂl
C K H
MXQ-BS20 MXQ-BS 8
MXQ-BS25 MXQ-BS12
MXQ-BS16
Adjusting i i
Size Model Tl Body Mounting - Table Mounting -
(mm) A B C D E E1 F G M P H J K L Q
MXQ 8 | MXQ-BS 8 20 7 245 (14 [125 408 | 5 12 1.4 M8 X 1 M3 X 12 |[16.6 | 8 12 |14.6 | M3X 12
MXQ12 | MXQ-BS12 18 9.5 |29 14 |11 408 | 6 12 1.4 M8 X 1 M4 X 12 |20.5 |11 13 [185 | M4 X 12
MXQ16 | MXQ-BS16 22 11 36 17 |135 |46.7 | 7 14 1.4 | M10X1 M5 X 16 |23 135 |16 |21 M5 X 16
MXQ20 | MXQ-BS20 35 13 46 22 (175 |67.3 |11 19 12 M14X15 | M6X 18 |27 17 22 |25 M6 X 20
MXQ25 | MXQ-BS25 35 16 54 22 |18 67.3 |12 19 12 M14X15 | M8X 18 |33 19 22 |31 M8 X 20
Note 1) Size of hexagon socket head cap screws
Retraction End
E E1 D
F H H
m— — a o
i = A
T

M A

MXQ-BT20 MXQ-BT 8
MXQ-BT25 MXQ-BT12
MXQ-BT16
. Adjusting c
Size Model str(zke e A|B |C|D|E|E1|F|G/|H J K"
mm
MXQ 8 | MXQ-BT 8 20 23 245 [125 |14 408 | 5 8 12 1.4 M8 X 1 M3 X8
MXQ12 | MXQ-BT12 18 28 29 16 16 408 | 6 10 12 1.4 M8 X1 | M4 X 10
MXQ16 | MXQ-BT16 22 33.5 |35.5 |20 17 46.7 | 7 12 14 1.4 [ M10X1|M5X12
MXQ20 | MXQ-BT20 35 43 46 26 25 67.3 |11 13 19 12 M14 X 1.5 M5 X 14
MXQ25 | MXQ-BT25 35 49 53.5 |31 28 67.3 |12 15 19 12 M14 X 1.5 M6 X 18

Note 1) Size of hexagon socket head cap screws

O
Z

2-217



Series MXQ

Adjuster Dimensions

Metal Stopper(CS, CT)

Extension End

Body mounting Size Vodel Qg{(gi;';;}ge Body mounting - Table mounting -
AP D mm |A|B|C|D|E|F|G| M | P" |[H|J|K|L| Q
M a F—> MXQ 6 miggz 2_)(11 é 6 (19| 8|7 % 7 |25| M5 |M25X6[145) 7 | 83|12.5M2.5X8
@ @ gli MXQ-CS 8 5 118 |
i SN o MXQ 8 |MXQ-CS 8-X11| 15 7 22| 9|7528 |8 |3 M6 |M3X8|16.6/ 8 | 9.8/14.6|M3 X 10
ua MXQ-CS 8-X12| 25 38
E G MXQ-CS12 5 22 |
c MXQ12 |MXQ-CS12-X11| 15 95(29 [14 |11 |32 [12 |4 |M8X1|M4X 12205/ 11 [13 [18.5|M4 X 12
R MXQ-CS12-X12| 25 42
Table mounting O 5 123 |
MXQ16 |MXQ-CS16-X11| 15 |11 |36 [17 [13.5(33 |14 |5 |M10X1M5X 1623 | 13516 (21 |M5X 16
ﬂ MXQ-CS16-X12| 25 43
MXQ-CS20 5 27|
L*JLL*J MXQ20 |MXQ-CS20-X11| 15 |13 [45 |20 |16 (87 [17 |6 [MI2X125M6X 1627 |17 |22 |25 |[M6X20
MXQ-CS20-X12| 25 47
Q MXQ-CS25 5 130 |
MXQ25 |MXQ-CS25-X11| 15 |16 |54 |22 |18 [40 [19 |6 [M14X1.5\M8X 1833 |19 (22 |31 [M8X20
‘3 @@ ”1 MXQ-CS25-X12| 25 50
K H Note 1) Size of hexagon socket head cap screws
Retraction End
Adjusting
Size Model stokerange | A B (o5 D E F G H J K"
(mm)
MXQ 6 [MXQ-CT 6 5 1175 |19 105 | 8 155 1 7 25 M5 |M25X6
MXQ-CT 6-X11| 15 255
MXQ-CT 8 5 18
MXQ 8 |MXQ-CT 8-x11| 15 |21 22 125 |10 28 8 8 3 M6 M3 X 8
MXQ-CT 8-X12| 25 38
MXQ-CT12 5 22
MXQ12 | MXQ-CT12-X11| 15 |28 29 16 |16 32 10 12 4 M8X1 | M4 X 10
MXQ-CT12-X12| 25 42
MXQ-CT16 5 23
MXQ16 |MXQ-CT16-X11| 15 (335 |355 |20 |17 33 12 14 5 M10X 1| M5X 12
MXQ-CT16-X12| 25 43
MXQ-CT20 5 27
MXQ20 | MXQ-CT20-X11| 15 |41 445 |25 |23 37 13 17 6 M12X 1.25| M5 X 14
MXQ-CT20-X12| 25 47
MXQ-CT25 5 30
MXQ25 | MXQ-CT25-X11| 15 |49 535 |31 28 40 15 19 6 M14X1.5| M6 X 18
MXQ-CT25-X12| 25 50

2-218

O
g

Note 1) Size of hexagon socket head cap screws



Construction

Air Slide Table Series MXQ

i © @3

L J

&

M=

)t 0000000000/

Vv V
With buffer With end lock Axial piping
Component Parts Component Parts/With end lock
No. Description Material Note No. Description Material Note
@ | Body Aluminum alloy Hard anodized 2 | Body for lock Aluminum alloy Hard anodized
(2 | Table Stainless steel Heat treatment @) Table support Carbon steel Anticorrosive treatment
(3 | End plate Aluminum alloy Hard anodized 28 Rod cover Aluminum alloy
@ | Guide block Stainless steel Heat treatment 29 Piston rod Stainless steel
(5 | Cover Synthetic resin 30 Bush Aluminum alloy Chromate treatment
(® | Return guide Synthetic resin 3) Blanking plug Brass Electroless nickel plated
@ | Scraper Stainless steel, NBR 32 | Return spring Stainless steel
® | Rod Stainless steel 33 Piston seal NBR
(© | Piston assembly With one side magnet 34 Rod seal NBR
10 | Rod cover Aluminum alloy Anodized <5 O ring NBR
1) | Packing support Brass Electroless nickel plated 3 O ring NBR
1 | Head cap Synthetic resin B L
3 | Floating bush Stainless steel component Parts/Axial piping
Rod damper Polyurethane No. Description Material Note
@ | End damper Polyurethane 3) Plate for axial piping Aluminum alloy Hard anodized
{6 | Steel ball Chromium bearing steel @® | Pipe Aluminum alloy Hard anodized
@ | Parallel pin Stainless steel Bush Aluminum alloy Chromate treatment
@ | Piston seal NBR @0 Stud Brass Electroless nickel plated
@ | Rod seal NBR @ | Oring NBR
@ | Oring NBR @ | Oring NBR
Component Parts/With buffer © | Gasket NBR, Stainless steel
@) Oring NBR

No. Description Material Note
) End plate Aluminum alloy Hard alumite treatment * Seal kits consist of items in the list below, and can be ordered using the kit
@ Spring collar Stainless steel Q number for each respective cylinder bore size.
k) Head cap Stainless steel
24 Spring Stainless steel
25 Magnet Rare earth

Replacement Parts: Seal Kits

Replacement Parts
(Seal kits with end lock)

Replacement Parts
(Seal kits for axial piping)

Bci:ﬁ rﬁi)ze Kit No. Contents Bo(';ﬁnii)ze Kit No. Contents B?ﬁnii)ze Kit No. Contents
6 MXQ 6-PS 8 MXQ 8R-PS Parts 6 MXQ 6P-PS Parts
) 3 18 to @ and
8 MXQ 8-PS Parts 12 MXQ12R-PS @ to @ and 8 MXQ 8P-PS %to @
12 MXQ12-PS ®to@® 16 MXQ16R-PS p . 12 MXQ12P-PS from above
16 MXQ16-PS from above 20 MXQ20R-PS Do ® 16 MXQ16P-PS Parts _
20 MXQ20-PS 25 MxQ2sR-ps | from above 20 MxQzoP-Ps_| (5102 and
25 MXQ25-PS 25 MXQ25P-PS from above
% SNC 2-219




Series MXQ

Auto Switch/Proper Mounting Position at Detection of Stroke End

Reed Switch: D-A90, D-A93, D-A96, D-A90V, D-A93V, D-A96V

. B E Operating
Model A Stroke Stroke range
10 20|30 |40 | 50|75 [100|125]150| 10 | 20 | 30 | 40 | 50 | 75 [100 | 125|150 | Of switch
— 35|35 (35 (|11.5[115
| | BT — MXQ6 6 | 55| 55| 55135185 — | — | —|— | |m|m|@|cs —| | | — 4.5
A E MXQ8 |75/8 (8 [12 |16 |31 [32 |—|—|— (3(,55) (3?5) (;,%) (11145\(92695\493;(,)5) —|—|—| 5
MXQ12 [11.5(24.5|14.5(14.5215(21.5(405(40.5| — | — | %oy | {20y | (0, | () | (7, | ooy | o6y | — | —| 6
MXQ16 |16.5[30.520.5(20.5(20.5(26.5(33.5[51.5(51.5| — |15} | {16} | (o) | 16) | 25} | o) | (amy| | —| 7
415(31.5(215)|18,5|29.5(37.5(69.5|72.5|77.5
MXQ20 (19 |435|33.5[23,5(335(31.5(39.5|71.5|74.5(77.5| (35} | o) | 26, | 16y | o | oo | (o) | Coy | ey | 8
| 50.5(40.530.5(30.5|44.5(44.5|58.5|86.5|77.5
( ): D-A93
L IF iﬁ - -
— Solid State Switch: D-M9B, D-M9N, D-M9P, D-M9BW, D-M9NW, D-M9PW
LB B E Operating
Model A Stroke Stroke range
10|20 |30 | 40 | 50 | 75 |100|125|150| 10 | 20 | 30 | 40 | 50 | 75 | 100|125 150| Of switch
MXQ6 |10 | 95| 95| 9.5(175(175| — | — | — | — | -0.5[-05|-05| 75| 75| — | —| —| —| 2
MXQ8 |[11.5(12 [12 |16 |20 [35 |36 |—|—|—|2 [2 |6 |10 [25 |26 |—|—|—| 25
MXQ12 |15.5/28.518.5|18.525.5(255\44.5/445| — | — [18.5| 8.5| 8.5/15.5155/34.5/345| —| —| 3
MXQ16 [20.5(34.524.5(24.524.530.5|37.5(55.5|55.5| — |24.514.5|14.5/14.5[205|27.5/45.5(455| —| 4
MXQ20 |23 |47.5[37.5|27.537.5|35.5|43.5|75.5|78.5|81.5|37.5|27.5|17.5|27.5|25.5|33.5/65.5|68.5|73.5| 6
MXQ25 |27 |56.5/46.5|36.5/36.5(50.5|50.5(64.5(92.5|92.5|46.5(36.5|26.5(26.5|40.5|40.5|54.5|82.5|73.5| 6

Solid State Switch: D-M9BV, D-M9NV, D-M9PV, D-M9BWYV, D-MONWV, D-M9PWV

B E Operating
Model A Stroke Stroke range
10|20 30]40]50]75 [100[125|150( 10 [ 20 [ 30 [ 40 | 50| 75 [ 100 [ 125 150 | OF switch
MXQ6 |10 | 95| 95| 95175175 — | — | — | —| 15 15| 15| 95| 95| —| —| —| —| 2
MXQ8 [11.5(12 |12 |16 |20 (35 [36 | —|—|—|4 |4 [8 [12 |27 |08 |—|—|—| 25
MXQ12 |15.5285(18.5(18.5(25.525.5(44.5{44.5| — | — [205/10.5105/17.517.5[36.5365| —| —| 3
MXQ16 [20.5(34.5[24.5(24.5|24.530.5(37.5(55.5|55.5| — [26.5(16.5[16.5(16.5|22.5/29.547.5(475| —| 4
MXQ20 |23 [47.5(37.5(27.5|37.5(35.543.5(75.5|78.5|81.5(39.5(29.5[19.5[29.5|27.535.5(67.5|70.5|755| &
MXQ25 |27 [56.5(46.5(36.5|36.5(50.5(50.5(64.5|92.5|92.5(48.5(38.5(28.5 |28.5|42.542.5|56.5(84.5|75.5| 6

How to Mount Auto Switch

H Tool for Mounting Auto Switch
A\ Caution g

- Use a clock screw driver with approximately
5 to 6 mm handle diameter for tightening set

2-220

screws shipped with auto switch.
Tightening torque

- Use the tightening torque value approximately
0.05 to 0.1 Nm. When you begin to feel that the

screw is tightening, turn it 90° further.

O

Small screw driver



